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Question 1:

What is a barter system? What are its drawbacks?
ANSWER:

Barter system is a system that was used in ancient times to exchange goods. In other
words, this system was used to exchange one commodity for another before the
monetary system came into existence. For example, if a person having rice wants tea,
then he can exchange rice with a person who has tea and needs rice. The economy
having the barter system was called ‘C-C economy’, i.e. commodity is exchanged for
commodity.

The various drawbacks of the barter system are as follows:
1. Problem of double coincidence of wants

Double coincidence of wants implies that needs of two individuals should complement
each other for the exchange to take place. For example, in the above case, the second
person must need rice in exchange of tea.

2. Lack of common unit of value

Under barter system there was no common unit for measuring the value of one good in
terms of the other good for the purpose of exchange. For example, a horse cannot be
measured in terms of rice in the case of exchange between rice and horse.

3. Difficulty in wealth storage

It was very difficult to store commodities for future exchange purposes. The perishable
goods like grains, milk and meat could not be stored to exchange goods in future.
Therefore, wealth storage was a major difficulty of batter system.

4. Lack of standard of deferred payments

The future payments could not be met in a C-C economy (barter system) as wealth could
not be stored. It was very difficult to pay back loans.



Question 2:

What are the main functions of money? How does money overcome the shortcomings
of a barter system?
ANSWER:

The main functions of money are as follows:
1. Medium of exchange

Money acts as a medium of exchange as it facilitates exchange through a common
medium, i.e. currency. In other words, money helps in the buying and selling of goods.
For example, a person can sell his goods to another for money and that person can use
money to purchase goods of his choice. Money solves the problem of double
coincidence of wants.

2. Unit of value

The values of goods can be measured in terms of money. It is a common medium
through which we can calculate the value of each and every good. The value of a good
in terms of money is called the price. In barter system the lack of a common denominator
for measuring values of goods was a major drawback.

3. Store of value

This function explains the importance of money as value storage. This implies that wealth
in the form of money can be stored easily as a medium of exchange for future use. For
example, money can be stored in banks for meeting emergency and future needs.

4. Standard of deferred payments

Payments can easily be made through the medium of money. In other words, it is very
difficult to pay back a loan in terms of goods and services. However, with the advent of
money the payments of loans or interests can easily be made.

Money overcomes the shortcomings of barter system in the following manner:

1. Money solves the problem of double coincidence of wants. For example, if a person
needs wheat in exchange of tea, then he/she must search for a person who is ready to
trade wheat for tea. Money made the need for such searches redundant.

2. In barter system, it was very difficult to measure the value of one good in terms of
another. For example, it is difficult to calculate the value of a cow in terms of wheat.

3. It was very difficult to store goods, especially perishable goods (fruits, meat, etc.) for
the purpose of value storage. Money serves this purpose.



4. The contractual or future payments are much difficult to be made in barter system. For
example, a worker working on contract basis could not be paid in terms of rice or chairs.
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Question 3:

What is transaction demand for money? How is it related to the value of transactions
over a specified period of time?
ANSWER:

Transaction demand for money refers to the demand for money for meeting day to day
transactional needs. As money is a liquid asset (easily acceptable or exchangeable),
everyone has the tendency to hold money. People earn incomes at distinct points of time
but consume throughout the entire period. So, people tend to hold money for transaction
purposes.

The relationship between the value of transactions and transaction demand for money
can be explained as:
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The transaction demand for money in an economy ("”‘-") can be written as
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Where,

K | represents velocity of circulation of money
T = Total value of transactions in the economy over a period of time
K is a positive fraction

Mr = Stock of money people are willing to hold at a particular point of time.

The transaction demand for money is positively related to the total value of transactions
and negatively related to the velocity with which money is circulated

Question 4:

Suppose a bond promises Rs.500 at the end of two years with no intermediate return. If
the rate of interest is 5 per cent per annum what is the price of the bond?
ANSWER:

Let the price of bond be Rs.P

We know that,
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It is given that

A = Rs.500
r=5%
n =2 years

Substituting the values in the formula
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So, P = Rs 453.51

Therefore, Price of the bond is Rs.453.51.

Question 5:

Why is speculative demand for money inversely related to the rate of interest?
ANSWER:

People have the tendency to hold wealth by means of property, bullion, bonds, etc. A
person holding bonds can confront various fluctuations in the market in the form of capital
gains or capital losses. The demand for money in order to meet these speculative needs
Is defined as speculative demand for money. Interest rate represents the opportunity
cost of holding the money. The speculative demand for money is inversely related to the
interest rate. When interest rate on securities is very high then people expect interest
rates to fall in future. This implies that in future bond prices will rise indicating capital gain
to the bond holders. To maximise the capital gain, more people will convert their cash
balances into bonds, thereby leading to a low speculative demand for money. On the
contrary, when interest rates are low, people expect interest rates to rise in future, then
bond prices will fall in the future, indicating capital loss to the bondholders. Hence, to
minimise the capital loss, people tend to convert bonds into money, resulting in high
speculative demand for money. This shows that the speculative demand for money is
inversely related to the interest rate.
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